BID AWARD SUMMARY

LETTING DATE: September 9, 2014

PROJECT: Enchanted Pines Drive Sanitary Sewer Extension

Project No. SS10-1938 / CIP No. 50859

RECOMMENDATION: Award Total Bid in the amount of \$105,039.40 to Mainline Contracting, Inc. at the September 15, 2014 Council Meeting.

BIDDER'S SUMMARY

CONTRACTORS

TOTAL BID

DATE: 9/10/14

Mainline Contracting, Inc.	\$105,039.40
R.C.S. Construction, Inc.	\$136,390.26

City staff recommends awarding this project to Mainline Contracting, Inc. for a total bid amount of \$105,039.40 based on unit pricing with the following appropriation:

FUNDING SOURCE ADVERTISING AUTHORITY

ENGINEER'S ESTIMATE

 TOTAL
 Waste Water Expansion
 Waste Water Expansion *

 \$120,000.00
 \$90,000.00
 \$30,000.00

 \$115,000.00
 \$
 \$

APPROPRIATION DATA:

FUNDING SOURCE
COST CENTER
LINE ITEM
FUNDING CENTER
BID AMOUNT

TOTAL	Waste Water Improvement	Waste Water Improvement *		
	834	834		
	4380	4380		
·	604	604		
\$105,039.40	\$78,779.55	\$26,259.85		

*Water Expansion Fund to pay for 25% of project cost with a fund transfer upon completion of project.

PROJECT MANAGER:

Michelle Schweitzer, PE

City of Rapid City

PROJECT NAME: Enchanted Pines Drive Sanitary Sewer Extension

PROJECT NUMBER: PROJECT NO. SS10-1938 / CIP NO.50859

LET DATE: SEPTEMBER 9, 2014

LOW BID AMOUNT: \$105,039.40

				ENGINEER'S ESTIMATE		MAINLINE CONTRACTING, INC.		R.C.S. CONSTRUCTION, INC.	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	MOBILIZATION	LS	1.00	\$10,665.00	\$10,665.00	\$10,500.00	\$10,500.00	\$32,112.62	\$32,112.62
2	INCIDENTAL	LS	1.00	\$15,000.00	\$15,000.00	\$8,200.00	\$8,200.00	\$16,035.57	\$16,035.57
3	REESTABLISH PROPERTY CORNERS	EA	1.00	\$400.00	\$400.00	\$400.00	\$400.00	\$287.27	\$287.27
4	SAWING, ASPHALT PAVEMENT	LF	60.00	\$10.00	\$600.00	\$4.00	\$240.00	\$4.29	\$257.40
5	REMOVE AC PAVEMENT	SY	24.00	\$15.00	\$360.00	\$14.00	\$336.00	\$5.53	\$132.72
6	AASHTO T-180 SOIL TEST	EA	1.00	\$200.00	\$200.00	\$185.00	\$185.00	\$251.36	\$251.36
7	PLACE TOPSOIL	CY	408.00	\$5.00	\$2,040.00	\$12.00	\$4,896.00	\$8.66	\$3,533.28
8	HAULING AND PLACING CO-COMPOST	CY	102.00	\$10.00	\$1,020.00	\$26.00	\$2,652.00	\$8.66	\$883.32
9	SEEDING, FERTILIZING, & MULCHING	SY	2,933.00	\$5.00	\$14,665.00	\$1.80	\$5,279.40		\$8,329.72
10	CONTROLLED LOW STRENGTH BACKFILL MATERIAL (TRENCH)	CY	8.00	\$110.00			\$800.00		

11	IMPORTED BACKFILL MATERIAL (TRENCH)	CY	140.00	\$15.00	\$2,100.00	\$10.00	\$1,400.00	\$8.42	\$1,178.80
12	TYPE I BEDDING MATERIAL	Т	25.00	\$19.00	\$475.00	\$15.00	\$375.00	\$25.04	\$626.00
13	TYPE III FOUNDATION MATERIAL	. Т	10.00	\$24.00	\$240.00	\$15.00	\$150.00	\$27.59	\$275.90
14	8" PVC SEWER MAIN (6'- 8')	ĿF	68.00	\$45.00	\$3,060.00	\$47.00	\$3,196.00	\$42.92	\$2,918.56
15	8" PVC SEWER MAIN (8'-10')	LF	485.00	\$47.00	\$22,795.00	\$52.00	\$25,220.00	\$46.07	\$22,343.95
16	8" PVC SEWER MAIN (10'-12')	LF	80.00	\$49.00	\$3,920.00	\$60.00	\$4,800.00	\$46.07	\$3,685.60
17	8" PVC SEWER MAIN (12'-14')	LF	30.00	\$51.00	\$1,530.00	\$70.00	\$2,100.00	\$46.07	\$1,382.10
18	DROP MANHOLE, 48"	EΑ	1.00	\$4,500.00	\$4,500.00	\$6,850.00	\$6,850.00	\$4,513.84	\$4,513.84
19	EXTRA MANHOLE DEPTH, 48"	VF	8.00	\$300.00	\$2,400.00	\$350.00	\$2,800.00	\$233.67	\$1,869.36
20	CONNECT TO EXISTING MANHOLE	EA	2.00	\$1,500.00	\$3,000.00	\$950.00	\$1,900.00	\$805.21	\$1,610.42
21	SANITARY SEWER CAP, FURNISH AND INSTALL	EA	1.00	\$250.00	\$250.00	\$30.00	\$30.00	\$310.79	\$310.79
22	EROSION AND WATER POLLUTION CONTROL	LS	1.00	\$2,000.00	\$2,000.00	\$400.00	\$400.00	\$7,849.58	\$7,849.58
23	EROSION AND WATER POLLUTION CONTROL PLAN	LS	1.00	\$500.00	\$500.00	\$600.00	\$600.00	\$502.72	\$502.72
24	AGGREGATE BASE COURSE, 1"	Т	20.00	\$30.00	\$600.00	\$30.00	\$600.00	\$24.05	\$481.00
25	GRAVEL SURFACING, PERMANENT	T	375.00	\$30.00	\$11,250.00	\$30.00	\$11,250.00	\$25.23	\$9,461.25
26	AC PATCHING, CLASS E, TYPE 1 PG64-28	Т	17.00	\$150.00	\$2,550.00	\$260.00	\$4,420.00	\$297.68	\$5,060.56
27	TRAFFIC CONTROL	LS	1.00	\$250.00	\$250.00	\$3,100.00	\$3,100.00	\$3,566.71	\$3,566.71

28	TRAFFIC CONTROL PLAN	LS	1.00	\$250.00	\$250.00	\$360.00	\$360.00	\$405.92	\$405.92
29	ROCK EXCAVATION	CY	50.00	\$150.00	\$7,500.00	\$40.00	\$2,000.00	\$108.25	\$5,412.50
	TOTAL				\$115,000.00		\$105,039.40		\$136,390.26

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Michelle Schweitzer, PE

⁷Date

Project Manager